136.170
Problem Worksheet Two
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. Find £ for the following parametric curves.

a x=r+37-9r+1, y=r* (o<t <w)
b. x=+f, y=t-1 (©gtg4)
Find £2 for x=sin2r, y=sint

Find the equation of the tangent line to the parametric curve
x=1*~t,y=1*+1 atthe point where r=2.

Find the points where the tangent line of the following parametric curves is
horizontal or vertical.

a x=r+3*-9+1, y=1* (~w<t<wm)

b. x=4f, y=t-1 (Ogts4)

Sketch the graphs in Cartesian coordinates obtained by:
a. r=sin4®@

b. r=3+2sin®

. Find & for the curves in 5 at the point ©==%.



